o4

ol

H 245

al

A

)

=

2 tehgu

1

o
BK
olJ
—4/L
o

g

o8
°

o|J
oo
!

B




i

\VARR 4
0x
i

27

1700 + 63 = 26 - -- 62
63 x 26 = 1638 ©]1L 63 x 27 = 1701 ©|t}.
1700 Bt Fopstm [ ]k} = 27 FEo|ch,




X 47

6041 (. © )
3452 (@ )
40561 ++-( 863 x47)

@ 863x 7, 863 x4
@)s63x7, 863 x 40

® 863 x 7,863 x47

@ 863x 70, 863 x 4

@ 863 x 70,863 x 47

863 x 475 5T W=
863 x 40 A4St}

M7 863 x 7S AL




2.

T
S

olp
o
ojn
il
™
gl il
RO
A A

.4
o] Hil 47| &

A




5.

TS LAl B2 Mok & A1) o] |88 BE £ AL THAL
600
43)6 97
® 6,0 @o. e ®®
@ 3,0, © ® 6, ©
43 < 69°| B8 2 &z Fo|t}.




AU

2o




N

mjm
™
i

af
)
ot
<
il

T

s
o

+

271, #3471, =271




%1

2~
an

2o LEXR FHE T

AU

7Ug
o]

b

CEEON

ke

.

=
o
—

@ =97

® 37
®G)==7, 93971

A

* =971




1T

2L

shof Lperdl e 1)

<]

2

LA

T

=
A5 24}
r =
—

3
27]

&t

Apat

10
a

2~
T

T
=

C)
=

<

<]

Nk
<]
NF
~
o

oo
0




10. @54 H5o4E S F Aol 75 A4 Sol7be At 112
RS B, 53 QAL T ARl 55 14 Solrke At
172 A2 wdeh [l sl w0 o wex [

oh] gre Wt 58 AR YA L.

> =

> = A
> "E. 535

> ®eD 1060 70

~&B

#F 1 75 % 112 = 8400( /)

%3] 1 55 x 172 = 9460( 7M)

w2bA] 53] T4=-Loll A 9460 — 8400 = 1060( 1) S o &
Ytk




11, 2/4dol& Wby ot 8743 el =8h2] 1778 750 el 4k
Ut} w814 g o] ghe ukel ) T80,

> == 308

AL A =512 9] &1 8 417 = 25(F)
750 + 25 = 30( )




12. (g g) =Ox @ - Ox ©®2= °F

SHA 2.

> E.

> ®Eeh: 14700

B

A
=

630, 82
<42o, 78)
630 x 78 = 49140, 420 x 82 = 34440,
49140 — 34440 = 14700




13. o FANA O ©2 A& the &atol ﬂﬂJ[::]_oo
obd S22 WeIAL S5 UTh O O] £A4E A=t 2 F5HA 2

OO
X QO
AN
OO0
[5/5 2 G)6]

vV V. v Vv
04
U (L 1
\]

02
L
=

B

4%x4=16,6x6=3602&

©O=2 4 E= 6% sfLfolth.

OxDY Ao A9 274 BE 520 F9E FEr
TXT7=490|B& @2 70|t}

wabA FAAlS AASHH 57276 ©] E 1L 57276 + 74 = 774
ojBZ ©2 4°|th




14.

1014 9742] 9] =245 7 A
2H2] 4) = (F A £ o] Al AlS THE o, gt

TahAl S

>
> 12

0
L

~&B

U0l 2] 471 7H & Sro]ojof 3t
WrE 71 71 22 4ol ofof ditt.
7 2 Al A e 987012
7 &L T 7t 4271 120] B2 987 + 120]th,




15.

Aol o] 45hd shel|2]o] Zold e} ojat o] 45
W2 zAbslo] bl oo Ty shslo] golgt
St

Ak o8Py o] 0] 27k 71 2 HEe B M LA

g

gl
1r
=1

lefslo] Folgh drabalnt olabge) 5

)

10

Ot

AR | oow | s | e
B by [ ofehy

g9 &
18| 8 |12 ] 4
28 110 [ 10 | O
38F | 11 | 13 | 2
49k 110 | 13 | 3

-
=




